
A. Complete the sentences with correct forms of the following verbs; some verbs 
are not used: UNBUNDLE, GUZZLE, SPORT, YIELD, STRIP, TRIGGER, PROPEL, 

WITHSTAND, SIPHON, LIQUEFY 

1. Higher-rate bank deposit accounts __________ good returns. 
2. She was __________ a T-shirt with the company’s logo on it. 
3. He quickly __________ the truth. 
4. He had __________ millions out of the fund and into his own bank accounts. 
5. The kids seem to be __________ soft drinks all day.  
 

B.  Complete each sentence with a word made from the word given in brackets. 
1. Our relationship was based on mutual __________. (DEPEND) 
2. The company’s dedicated to developing __________ new products. (INNOVATION) 
3.  We have abandoned our __________ strategy to focus on core activities. (DIVERSIFY) 
4. Natural gas is far more __________ friendly tahn other fossil fuels. (environment) 
5. The wood in our furniture all comes from __________ sources. (new) 
 
C. Fill in the gaps with a suitable preposition or adverbial, if necessary: 
1. Major spending is required to bring _____ substantial improvements in housing. 
2. Sales to Europe accounted _____ 80% of our total sales last year. 
3. Memories of the past filled her mind _____ the exclusion _____ all else. 
4. What impact will a strong currency have _____ the economy? 
5. _____ regard _____ the discussion about immigration, I'd like to hear Ms. Masolo's opinion. 

 


